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[181F3] O A (&2, JIESE) (el @ &)
oy = of & oA VT I3 ol & A =TT VAN ==
70 IR =S B = S | 79,690,000 100.0 72,010,000 100.0 7,680,000 10.7
100 XI&Al=+< 0 0.0 0 0.0 0 0.0
200 Mi2l=¢ 76,781,564 96.4 71,467,664 99.2 5,313,900 7.4
210 BHHM L+ 17,453,201 21.9 17,457,672 24.2 A4 471 0.0
220 SAIHA 2l =& 59,328,363 74.4 54,009,992 75.0 5,318,371 9.8
Al 300 I 1= Al 0 0.0 0 0.0 0 0.0
400 X2 Z0= 0 0.0 0 0.0 0 0.0
500 28 UFsSEMIEE= 0 0.0 0 0.0 0 0.0
510 28U 7= 0 0.0 0 0.0 0 0.0
520 ME2& =3 0 0.0 0 0.0 0 0.0
600 2X= 2,908,436 3.6 542,336 0.8 2,366,100 436.3
gl 610 =1E2x=S 1,570,000 2.0 0 0.0 1,570,000 0.0
620 Al - ZHIEXSS 1,338,436 1.7 542,336 0.8 796,100 146.8
700 Xl XH 0 0.0 0 0.0 0 0.0
710 =UHXE = 0 0.0 0 0.0 0 0.0
720 =2AXE S 0 0.0 0 0.0 0 0.0
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[15123] O M S(MAMgE, JlEssy) (B9 : &)
2 = o & o BT N o & W ogg =N =55

Moz o8 A 79,690,000 100.0 72,010,000 100.0 7,680,000 10.7

100 2 A0l &F 17,120, 127 21.5 15,897,512 22 1 1,222,615 7.7

110 Q24| 3,423,724 6.8 2,438,333 7.3 985,391 7.9

120 BA=BY| 3,696,403 4.6 3,459,179 4.8 237,224 6.9

M| 200 AHed Ofl & 34,064,581 42.7 24,197,899 33.6 9,866,682 40.8

210 XA 11,118,730 14.0 4,126,005 5.7 6,992,725 169.5

220 KHHIAHH 22,945,851 28.8 20,071,8% 27.9 2,873,957 14.3

300 MPatst 4,521,170 5.7 4,521,170 6.3 0 0.0

310 XIZ7H &f 2t 4,521,170 5.7 4,521,170 6.3 0 0.0

£ 320 RGP 0 0.0 0 0.0 0 0.0

400 OildHIHlS 23,984,122 30.1 27,393,419 38.0 23,409,297 A12.4

410 oilgldl 23,825,953 29.9 27,246,250 37.8 A3,420,297 A12.6

420 J|Et 158, 169 0.2 147,169 0.2 11,000 7.5




